WEMRIAZAZ T F— BER

R&HE45%: B 31-2045

FRAF (1E/EIZOE)

HRERE DD
TREREOMED [S2=F/DFEMELE
=i5 2= T(DEMHIEE [MELLIHESHE
X IIHESHTEN [BHUNRIEmE
HE
EE 690 1,480M
F1BEE 150 360M
F2HREE 150 360M
Mn=E 1504 360
HE=E 1504 360M
I=EE 1504 360
REFE 90M 210M

HE - EFZENELTERIIEEDFERHDLEL
DEED201FIZHHA T 5%ELT D,

RET DA

1/2




AEEFREMER

(1) RIEEE
= & AEH BEE#
1S E (M) 1EBCEM)

BE 500 500
E=EGEE) 100 100
WEEGEE) 100 100
F1EEE 100 100
F2EERE 100 100
o= 100 100
FIEE 100 100
I=ZE 100 100
REE 100 100
(2) ARERAF

1. AEEEAE14. 1[E50M 3. HRA—T 14, 1EI50M

2. RMiZHLER-1RiFss1E50M 4. HRREREF1E . 1[EIS50MH
=L, 1EDFERAREBX4BRLUAEL., 4BBZEB A AT EIC50MEMET 5,

3) ExREHEERAN
1. A2 =T 3R T OABEEZRCERKFREHE AT LHEEIL. 15/
H=Y1kwRiFEH20M., 1kwkl E2kwRiFH40M, 2kwll £ 3kwRiFEH60M . 3kw
YL E4kwRH80M ., 4kwld L5kwkiiEH100MHET B,
2. ARSI A= T4 A—DESRHE: 1RK40M./h

4) aEc—$
YA XIZhhHsd 1M 10AET S,

(5) ENfilE
FIRIBEDERIE. 1M4AMAET D, 1L, MFLAHDIFZEF, 1#3HET S,

6) T —EAK
) —NFEAIL,. 105100MET 5,

2/2



